Mock 8
1. Take two of the following and outline the reason for the current/proposed/probable bailout:

· Greece

· Ireland

· Portugal

· Spain

· Italy

(6 mks)

2. Analyse the impact on economies such as France, Spain and Greece, of adhering to the fiscal rules of the European Union’s Growth and Stability Pact in a time of recession. (6 mks)
3. If a fiscal stimulus can only be used to achieve growth in the short run, then what are the alternative sources of growth?  ( 10 mks)
4. Explain the term ‘liberalisation’ (4 mks)
5. What is the significance of imperfect convergence? (6 mks)

6. Spain cannot solve her problems by the use of macroeconomic policy. So – what CAN it do? (10 mks)

7. The explanation for declining competitiveness put forward in the extract is the failure of the ECB monetary policy to control inflation in all parts of the euro area.  Do you agree with this explanation? (20 mks)
Answers
1. Take two of the following and outline the reason for the current/proposed/probable bailout:

· Greece

· Ireland

· Portugal

· Spain

· Italy

(6 mks)

Greece
Bailouts
Greece was the first eurozone country to require a bailout, receiving 110bn euros last may from the IMF and the EU. It may also require another bailout, with talks of a figure around 172bn being required for the second rescue package. This second bailout is a rather contentious issue however, with Germany and the ECB disagreeing on the requirements that will have to be met in order for Greece to receive the aid.


Reasons for the bailouts
The biggest problem for the Greek government is that of tax evasion leading to a high budget deficit and therefore high overall debt. One in three Greeks are regularly evading tax, and the government's budget deficit is around 22m euros annually; interestingly around the same amount that the government is losing in tax revenue due to the high levels of evasion.
Another of the problems was that Greece were effectively lying about the levels of debt they had, meaning that the EU authorities didn't know how severe their problem was, and so by the time they were made aware it was too late. This calls for a reform of the way in which government deficits are measured and the transparency of the government's budget condition.


Ireland
Bailouts
Ireland took 85bn euros last year from the EU and the IMF. It has also had a total of 5 bank bailouts, and there is a risk of default if the banking sector doesn't stabilise.


Reasons for bailouts
Ireland had the highest levels of growth out of any EU country before the recession, and it fell the hardest (as shown in fig 2.1 of the extract). One argument as to why Ireland was hit so hard in the global recession is that it did not have any sort of control over monetary policy or its exchange rate. While it is true that this should affect all EU countries, Ireland was growing much faster than them so the effects were more pronounced.

Portugal
Bailouts
Portugal has already been bailed out.. (I think.. It seems hard to find out about..) and there is talk of a second one being needed, despite claims for a long time by the Portuguese that it wouldn't be necessary.

Reasons
One of the reasons Portugal has experienced a worse downturn than most in the global recession is due to the condition in the economy of its main trading parter (Spain). This only goes part-way to explaining the problem, another reason would be the reliance on tourism; the demand for which has fallen sharply in the recession as it is a luxury item that people don't feel they need when their incomes fall.

Spain
Bailouts
Spain has yet to be bailed out, despite fears that it may need one in the future, and despite the recent poor economic performance. One of the major fears of the EU is that they probably couldn't afford to bail out an economy as big as Spain's.


Potential reasons
The reasons why Spain may require a bailout are not to do with bad governance, more to do with bad luck (as well as over-reliance on certain sectors). It was thought that more than 1/10 Spanish people were employed in the construction sector, and another large proportion were employed in the tourism industry; both of which were hit hard by the recession for the same reasons as Portugal's tourism sector - it's heavily income-elastic.
Also, Portugal's worsening economy is doing Spain no favours.

Italy
Bailouts
None yet, and the Italian government are adamant that they will not be needing one.

Possible reasons
Italy, like the rest of the PIIGS, is suffering from reduced levels of international competitiveness. It also has a high tourism sector, just like Spain, and the president has freely admitted that the aim of achieving the target of "zero percent deficit and GDP ratio" looks a "long way off"


2. Analyse the impact on economies such as France, Spain and Greece, of adhering to the fiscal rules of the European Union’s Growth and Stability Pact in a time of recession. (6 mks)

Synoptic knowledge: AS Unit F582, The national and international economy

Aggregate demand and aggregate supply and their interaction

Level 3 (5 – 6 marks)

For an analysis of the impact on economies such as France, Spain and Greece of adhering to the SGP’s fiscal rules in a time of recession

Responses in this level will make explicit use of economic concepts such as:

• AD, components of AD, AD / AS diagram (though not required for highest mark), and develop the impact on GDP, unemployment, rate of inflation, current account of the balance of payments

Level 2 (3 – 4 marks)

For an application of knowledge and understanding of economies such as France, Spain and Greece will be affected by adhering to the fiscal rules in a time of recession

Responses in this level will be descriptive and include no economic

concepts.

Example responses

• To adhere to the fiscal rule governments may need to reduce government expenditure / raise revenue from taxation

• Sticking to the fiscal rules will make the recession worse

• Expansionary fiscal policy will be limited

• The economy will be more stable

• They will avoid fines from the EU

Level 1 (1 – 2 marks)

For knowledge and understanding of a recession and / or the need to reduce government expenditure / raise taxation receipts in a recession to meet the rules

Example responses:

• Recession is two consecutive quarters of negative economic growth

• In a recession government spending will rise and tax receipts fall so budget deficit may exceed the limit (automatic stabilisers)

• France, Spain and Greece have all broken one of SGP’s fiscal rules (deficits > 3% of GDP)

• In a recession expansionary fiscal policy may be needed

3. If a fiscal stimulus can only be used to achieve growth in the short run, then what are the alternative sources of growth?  ( 10 mks)

The alternative and, ultimately, more appropriate source of growth is trade.  We can identify the benefits of trade as follows: 

	Trade seen is a stimulant to short run and long run economic growth:

· Exports are an injection into AD.

· The boost to exports will have multiplier and accelerator effects on equilibrium national income.

· There will be supply-side improvements from investment and greater factor mobility between countries.

Trade results in:

· an injection in the circular flow of income.

· an increase in aggregate demand.

· the multiplier effects of export led growth.

· the import of new technology.

· a downward shift in the Long Run Average Cost Curve.

· employment creation in growth sectors.

· new capital investment and innovation.

· contestable domestic markets. 

· the transfer of ideas and best practice.

International trade means increased competition for producers and therefore:

· pressure to keep costs and prices down.

· dilution of monopoly power.

· reduction in price discrimination.

In addition, there will be dynamic efficiency gains as: 

· trade speeds up the pace of technological change; and

· economies of scale result in lower LRAC and higher profits.




4. Explain the term ‘liberalisation’ (4 mks)
Liberalisation means deregulation and other measures, including the lowering of trade barriers, aimed at opening up a market or industry to full competition. In the context of world trade it is a process whereby countries sign bilateral or multilateral trade agreements to reduce import tariffs, quotas and other forms of protectionism in a bid to stimulate greater trade in goods and services. 

5. What is the significance of imperfect convergence? (6 mks)

· Cyclical fluctuations are not synchronised throughout the euro area.

· A downturn in some euro areas might coincide with positive growth in others.

· Monetary policy set for the euro area as a whole might be inappropriate for particular countries. 

6. Spain cannot solve her problems by the use of macroeconomic policy. So – what CAN it do? (10 mks)

 and so must consider tackling the root cause of its problems, which are supply-side problems.  The reference (in the first sentence) to the need to improve long run growth potential, means shifting the long run aggregate supply curve to the right.  This will reduce inflationary pressure and increase output, employment, income, and wealth.  

Figure 3.1 is an extract from an IMF report on the Spanish economy.  In the report it is stated that despite the economic slowdown:

· Wage costs are rising above the euro area average, rendering its products less competitive internationally.

· Unit labour costs (labour costs per unit of output) are rising above the euro average, encouraging a reduction in inward investment.

· Inflation is above the euro area average.

Clearly, general inflation in the Spanish economy is caused by wage push inflation – that is, increasing wage costs are pushing up prices in general.  Inflation and, in particular, wage inflation is caused, in part, by lack of competition and contestability in output markets.  At this point, mention should be made of the theory of the firm.  You will remember that perfectly competitive firms are price takers, whereas monopolistic firms are price makers.  The greater the competition in the market, the less scope there is for suppliers to accommodate cost increases and push up prices.  In fact, we take this a stage further by stating that cost push inflation is only possible where markets are imperfectly competitive, and wage push inflation assumes the presence of monopolistic forces in both product and factor markets. 

Significantly, it is not just lack of competitiveness in the market, but also a lack of contestability.  Contestability is not about the extent of competition that currently exists in the market, but is concerned with the potential for competition.  A market might be oligopolistic or, even, monopolistic but still be contestable in that it is relatively easy for newcomers to enter the market. 

The IMF report also makes reference to inefficiency in terms of labour markets, meaning that there is also low productivity in Spain.  Productivity is a measure of output per unit of input and, in particular, output per employee per unit of time.  A firm and an economy can afford to pay high wages if this is matched by high productivity.  Similarly, if rising wages are paid for by rising productivity, then they do not add to unit labour costs and are, therefore, not inflationary.  However, high and rising wages not matched by high and rising productivity do add to unit labour costs and are, therefore, inflationary. 

The IMF reports that Spain must introduce (Supply-side) Policies to improve its international competitiveness, and must reform its product markets to make them more competitive and contestable.  

	Supply-side policies are designed to:

· influence aggregate supply by improving the productivity of the free market economy. 

· increase aggregate supply by improving the efficiency of factor and product markets.

· bring about improvements in the economic environment so that the potential growth rate is increased and the level of unemployment is reduced. 

Supply-side policies are designed to:

· be long term.

· raise the productivity capacity of the economy.

· improve incentives.

· improve the efficiency of resource allocation.

· shift the aggregate supply curve to the right.

· reduce inflationary pressure.

· increase aggregate supply by improving the efficiency of markets. 

· increase the trend growth rate – this is the overall objective.

Supply-side policies in the labour market aim to:

· increase the supply and efficiency of labour.

· improve the skills of the labour force (investment in human capital).

· promote mobility of labour.

· remove barriers that prevent wages reaching equilibrium levels.

· encourage flexible working practices.

Supply-side policies take the form of:

· income tax cuts to improve incentives to work.

· cuts in benefit payments to make voluntary unemployment less affordable.

· tax relief on income earned from renting out accommodation in order to promote geographical mobility.

· measures to reduce the power of unions. 

· welfare to work measures.

· reforms to employment laws. 

· reduced government regulation of the labour market to lower the non-wage costs of taking on workers.

· encouragement to the expansion of short term contracts and part time labour.

· investment in education and training to improve the quality of labour.

· encouragement for profit related pay.

· encouragement for employee share ownership.

· changes to the education system to broaden access to further and higher education and to promote vocational training.

Supply-side policies in the product market are designed to encourage the private sector and promote competition by:

· market liberalisation.

· privatisation of state owned firms.

· contracting out the delivery of public services.

· deregulation of markets to open them up to competition.

· tax relief on profits retained by firms for investment purposes.

· a tougher competition policy.

· promotion of competition and contestability.

· the opening up of capital markets.

· the removal of barriers to the flow of capital.

· EU single market measures.

· correction of market imperfections.

· improving consumer information 

Policies to encourage enterprise involves liberating the supply-side by:

· reducing taxation and government spending.

· lowering corporation tax to increase the profit incentive and to investment.

· changes to the structure of taxation to encourage factor employment.

· reduction in government borrowing. 

· investment incentives. 

· incentives to encourage foreign direct investment in Britain. 

· encouraging business start-ups.

· wider share ownership.

Consequences – Supply-side policies:

· boost the long term trend rate.

· lead to increasing prosperity in the long run.

· have the potential to achieve all macroeconomic objectives simultaneously.

· increase employment.

· dampen cost push inflation by increasing efficiency.

· help to improve price competitiveness, thus boosting exports.




7. The explanation for declining competitiveness put forward in the extract is the failure of the ECB monetary policy to control inflation in all parts of the euro area.  Do you agree with this explanation? (20 mks)

Remember that monetary policy, including interest rates, is set by the ECB and not by national central banks.  The ECB sets interest rates for the euro area as a whole on a “one size fits all” basis.  The problem is that the interest rates chosen might have been appropriate for the euro area as a whole, but inappropriate for particular countries. 

We learn that monetary policy was “too loose” for the PIIGS – in other words, to control the inflation pressure in these countries a tougher monetary policy was needed, and this would have meant higher interest rates.  So, three of these countries experienced economic growth in excess of the euro area average and, as inflation was not controlled by a tight monetary policy, the result was overheating leading to a rise in factor costs and prices.

If there was overheating leading to inflation in the UK, then there would be downward pressure on sterling.  This is because declining competitiveness leads to:

· a rise in imports and an increase in the supply of sterling. 

· a fall in exports and a decrease in the demand for sterling.

The Purchasing Power Parity Theory informs us that high relative inflation leads to a fall in the exchange rate.  But, the PIIGS are members of the euro area and, therefore, high relative inflation in the PIIGS will not cause a depreciation of the euro.  If inflation throughout the euro area was high relative to the rest of the world, then the euro would depreciate but this would not be the case with high relative inflation in individual members of the euro area.

Declining competitiveness of the PIIGS will not lead to depreciation and, as a result, they do not have access to the “get out of jail free card” enjoyed by countries that remained outside the euro area.  It means that instead of allowing the exchange rate to take the strain of adjustment, the burden of adjustment falls on the real economy as orders and jobs are lost.

The fast growing PIIGS attracted Foreign Direct Investment (FDI).  This inward investment was attracted by the high growth rates especially in Greece, Ireland and Spain, and because these currencies had adopted the euro rather than using their previous national currencies, there was no risk of currency depreciation.  Obviously, the euro itself floats against foreign currencies, but the foreign exchange value of the euro is determined by the relative performance of the euro area as a whole – not by the individual performance of any one of the member states.

Therefore, the economic growth (up to 2007) in the fast growing PIIGS was caused by a rise in aggregate demand which, in turn, was caused by:

· a loose monetary policy leading to negative real rates of interest. 

· inward foreign investment, attracted by significant development potential, and no exchange rate risk.

At the same time as aggregate demand was increasing, the supply-side performance of the economies was “poor”.  Again this goes back to the question of the uncompetitiveness caused by rising costs of production, and especially rising unit labour costs.

As we have mentioned aggregate supply and aggregate demand, it is essential to include graphs in our analysis.  
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